= o
A & 0l & AF 2 E A A
20158 S0la LA NHE=&u
SN REEED
M HABe
ool WS MEHY T4 CER-ED
= _ — d =
A FB B (B) - HRAY - BES 0l &t o il Bl RE2
A& &= 8kt 16,883,613 16,484,685 398,928
AlHI 188,350
T Hl 16,695,263
FAaze 11,749,144 11,428,824 320,320
AlHI 188,350
T Hl 11,560,794
WPHE MEad X4 9,288,764 8,788,404 500,360
AlHI 45,500
- Hl 9,243,264
MEHIIE Xl 9,186,074 8,722,934 463, 140
201 Let24d] 20,002 29,802 A 9,800
01 At 22/l 18,262 28,062 A 9,800
OFA QUARAEY =2 JIMME EF
7,000,000& 7,000
OEA~EE 7¥ 30,000& 100 3,000
OFAHSE MA HMZ 590
MEDISSF s AEIA 2503 =1,0000H 250
2L 30& 8,000 0K 240
SEHSE ==27 50& *2,0000H 100
OdemHII=ZY s22(dH) M
100& %20, 0000H 2,000
OLHIEAX EdH 4,532
AMOIEEH 4 143,000& *2J 43| *3CH 3,432
E28d4 275,000 23] »2CH 1,100
OFAUIIA AR =D Xt
95,000& 128 1,140
02 2324l 1,740 1,740 0
OFAXLAXN &Iz 90,000& »12& 1,080
OFAXIA & - o2 110,000& *63l 660
203 &R Tyl 1,000 1,000 0
03 A Z=XH S =AY 1,000 1,000 0
O&A a2 HE2FA 1,000,000 1,000
206 = Hl 269,512 217,625 51,887
IREE] 269,512 217,625 51,887
OSHNESE MA 269,512
ERCIE= 236,320
- 54 29:& «500,0000H 14,500
- 104 36& *1,500,0000H 54,000
- 208 56:& +800,0000H 44,800
- 304 83& *150,0000H 12,450
- 504 1213 %200, 0000H 24,200
- 754 168& *15,0000H 2,520
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Az e
2 ztel
Met MESY T4
= _ — d =
B SR (B) - KIRAY - BES e
- 1004 2183 +75,0000H 16,350
- 302 OHCH 380& *10,0000H 3,800
- 102 (MAHS) 38& »150, 000 0K 5,700
-204 (THAHE) 58& *1,000,0000H 58,000
- B38 33,192
-750 2% 1683 *144,0000H 24,192
- 1004 OHCH 3603 *25,0000H 9,000
301 et a = 6,680 6,627 53
0B M ERRIABHS 3,880 3,827 53
OFAHAFYREX 3,880
== 129,600 x1H 128 1,556
S Al 6,0003 «1H 22«12 1,584
Sl 2,8003 x1H«22U 128 740
11IIEBEAS 2,800 2,800 0
OMEHIIZ =& - 28 HASM HIIE =g
70,0003 x8H x5 2,800
307 glz2tol & 8,280,880 7,859,880 421,000
05 RIZtE = 8,280,880 7,859,880 421,000
OMEHIIZ =& - 2L QULAE =T
8,206,000,000& 8,206,000
OJIs&EAx HII2 /8 H™el
130,000 x2E*24L x12& 74,880
403 X SHHS =0l & 608,000 608,000
02 S| 2 S0il CH &HCH & A I 608,000 608,000
OHJIs et (MIMEH S)
16,000& x38,000& 608,000
HOIZ2 SHSD| o 93,270 58,770
AlHI 45,500
T Hl 47,770
201 £B-2dH| 28,270 28,270
01 At 22l 7,490 7,490
OHYI2 RHEI =58 ABE 1,090
ZTeH &4 190, 000& 54 950
0CR D XI M 70,0003 28t A 140
OmHJIE RHEI 08 M 4,000,000 4,000
OMEXNSIYE & okl E&E+==2
150,000 150
ORHEI 22 22 s ME 2,000,000 2,000
OunXANEsE 3% A 50& x5, 00004 250
02 2324l 20,780 20,780
OHJIE RHEI BB FUHE ME
5,000 =128 »2CH 840
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SN BB (HA) - MM - BES il HDEZ
OHVIE REYEFI| ZAI3tH e =X2el 19,940
CIRUPNE= 1,120,000& 122 13,440
- Jtoiet Ol A 450,000 = 10CH 4,500
ool RAE+ 2,000,000 2,000
401 Al HIZ 201 I 65,000 30,500 34,500
Al 45,500
- Hl 19,500
01 A& HI 65,000 30,500 34,500
OADEZE &1 1,500, 000 *35CH 52,500
Al 36,750
Tl 15,750
OSEXNZOoIAIAE &X 2,500, 000 «5CH 12,500
Al 8,750
T Hl 3,750
220l 22 M 9,420 6,700 2,720
201 L Er2 A | 3,700 3,700 0
01 AtR el 3,700 3,700 0
OOt SEDS ALY
300,000 42 1,200
OgZ0latd HetdA g gx S
2,500,000 2,500
203 ¥ S =&l 3,000 3,000 0
03 AIHF=AH 2 =AH| 3,000 3,000 0
Ot 0Ist3 e A 30,000& 100 3,000
405 TtobH S| 2,720 0 2,720
01 et EZFH S 2,720 0 2,720
O&30latd UII4 olsSHIE wA 2,020
= 1,000, 000 * 1 CH 1,000
zeldg 300,000 1CH 300
- IHHlsl 180,000& =4 K 720
OUBXOX SH0ISHE Il ANEI wHl
700,000 ~1CH 700
2 s 135,724 174,468 A 38,744
AlHI 10,850
T Hl 124,874
Mg HII2 MelAld 48X K& 156,500 111,000 95,500
AlHI 10,850
- Hl 4,650
201 L Er2A | 2,000 0 2,000
Al 1,400
Tl 600
02 =24l 2,000 0 2,000
OAEIZ3 ZEJ M 2,000,000 2,000
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SA - BB B () - MM - BES Ol &t o San HmEET
AlHl 1,400
1 Hl 600
401 A& HIZ 201 I 13,500 13,500
AlHI 9,450
T Hl 4,050
01 A& HI 13,500 13,500
OMEES HEF A& 22 13,500, 000& 13,500
Al 9,450
T Hl 4,050
Hasgdag8d 29 41,388 Ab44
201 Let24E] 41,388 456
01 At 22l 18,528 456
OMgesEs Hgd 29 100,000& = 12& 1,200
OMEEE K I4I| o3
38,0003 «12& «2CH 912
ONeEss HEE 2IES 16,416
OtCH 9,480
- 100L 2803 *1,00000 12 3,360
- 1000L 8,500 «6001 122 6,120
B8 #3H 29,0003 x12E+12& 4,176
- PPYH E 15,000& x12E 128 2,160
=) REY 250,000 250
s 72 350,000& 350
02 =24l 22,860 0
OMEES HEE 23222 14,360
FaPl = 880,000 »12& 10,560
o ot 2 100,000& =128 1,200
CIHY JlHdAER 40,0003 x12& 480
o B2 110,000 128 1,320
SANERE S 100,000& *23| 200
CCTV Mt E= 50,000& 128 600
ONgss g8 A== 500,000& 500
ONESEE dEE HFUSA(XNHAI S 88)
1,000,000 83 8,000
Hass+d 78,836 57,300
201 Yet2 | 4,136 600
01 At 2t 2l 4,136 600
OUEHIIZS Ml SFUE=JAF M=
495,000 6 A 2,970
OMgs ZSHAIS It 566
e 66,000 66
e E 238 200,000 200
HAEES HE2S 23 200,000 200
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2N
X ZH -
L= B

el

5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
HdAlS 2 23 100,000 100
o183 #AM 2= M
100& %3, 0000H 22/ 600
301 et A3z 74,700 18,000 56,700
MIEE243 74,700 18,000 56,700
onMaes =d&d=2 1,600,000& »123] 19,200
OHHME Hes8s Hilta X
37,5003 « 1200 &t Ml 128 54,000
ONMsEs =& 33U ANz 1,500
ES 500,000 * 104 2 500
f = 300,000 *20H 2 600
o 200,000 *20H 2~ 400
SAMNEFHII= NE 3 2,027,380 2,182,680 A 155,300
SASFHIIZ2 Hel 2,027,380 2,182,680 A 155,300
201 et 19,380 19,380 0
01 At 2teltl 19,380 19,380 0
OSaSHII=2 ERES HA
25% x55,0000H =12 16,500
OsAlSHIIE =888 M&
403 «6,00001 x 122 2,880
307 21201 A 1,960,000 1,872,000 88,000
05 RIZt2IEt = 1,960,000 1,872,000 88,000
OsAEFRHII=S QU2dAE X
130,000& x12,000& 1,560,000
OSASRHIIE HMal(3I1g)
80,000& *5,000& 400,000
403 Ut S E X201 & 48,000 48,000 0
02 S| 2SO CHESHCHE AL B 48,000 48,000 0
=dot=Meld SASFHIIS XM
20,0003 *2,400& 48,000
HII2X & 297,276 283,272 14,004
AlHI 132,000
I 165,276
25,3834 29 285,520 264,036 21,484
AlHI 132,000
- Hl 153,520
201 Let24E] 17,000 14,000 3,000
AlHI 17,000
01 At 2t 2l 17,000 14,000 3,000
Oss - ==3dd 29 7,200,000 7,200
Al 7,200
OMestaa SA2el 9,800,000 9,800
AlHI 9,800
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SN HREED
M HABe
&S HIIEXE (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
301 et a = 17,520 14,036 3,484
01 MEIBEZE 506z 17,520 14,036 3,484
O3sazad s 23 XA 17,520
Hdol= 6,000 *607H & 120 & 4,320
Aol=E2 15,000 *60IH A~ *6IH = 5,400
e i3 130,000 *600H 2 7,800
307 gl2tol & 46,000 46,000 0
05 RIZHRI & 3 46,000 46,000 0
O2ssaa 2el 46,000,000 46,000
401 A& HIZ 201 8] 205,000 190,000 15,000
AlHI 115,000
L Hl 90,000
01 A& HI 205,000 190,000 15,000
Oz=s&a - E= 150,000
Stets==X FUHS0E sEA S
0,000,000 70,000
AlHI 35,000
T Hl 35,000
- S8HA 60EA F (00 - =) 80,000,000 80,000
Al 40,000
1 Hl 40,000
OJdlIz===SX Mcia stEA Ha
30,000, 000& 30,000
Al 15,000
I 15,000
OFAAHS MeHa &4 e 25,000,000 25,000
AlHI 25,000
el St=XelAldg 2el 10,256 17,736 AT,480
201 YEtS | 1,016 1,016 0
01 At 2teltl 1,016 1,016 0
OFstx 4 HUEAM M 66,0002 62 A 396
OmJIs2d MA 35 M= 200& *1, 50004 300
O2YES 320,000 320
307 gl2tol & 9,240 9,240 0
05 BIZHRI & 3 9,240 9,240 0
OFA XM F+WRS
1, 100& %140, 000ke 6% 9,240
OS2 stE4a eS| 1,500 1,500 0
201 YEre Al 1,500 1,500 0
01 At 22/l 1,500 1,500 0
OZSTA ZHEES 1,500
S0 X ¢ B> 500, 000 & *2JHK 1,000
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2N

M
cHel: ?EA)
.o (3H) - NBAY - B2 o AF o il 2
LN 6,000& *50H 300
2HE HE 200,000& 200
H KAz=50) 5,134,469 5,055,861 78,608
5,114,261 5,035,653 78,608
5,114,261 5,035,653 78,608
5,114,261 5,035,653 78,608
504 504 0
AL HOISSHS AM2AAZ2R4E
21,0003 x6H *4 3] 504
FIAHSZZXE = 5,113,757 5,035, 149 78,608
O=td0Ig& 5,113,757
23 1,844 ,990& x99H x12& 2,191,849
Yol 299,100
S-S S (R ) 40,000 »88H x12& 42,240
-S4 (D18 20,000& 105 x12& 25,200
-SSR 125,000 x99 x12& 148,500
- AAXALS 70,0003 »99H x12& 83,160
A2 1,181,562
-J|egg
MAUHSXSI1= 2,169,990 99 x200% 429,659
d24
MUHSXSI1= 2,169,990 x99 x100% 214,830
=R =Nl
MUHSXSI1= 2,169,990 x99 x250% 537,073
- Sl =M 412,235
- gAY 130,000& 99 H x12& 154,440
- @& S0t
MUK 2,169,990 x99H x60%*2 257,795
=
222 736,548
-5dI2ARxH
EMNAZXSIIZ= 3,562,310 x1/226%4 Al 486,871
2k *150%*99 % x523=
RSP~
SAMUASXNSIIE 3,562,310 x1/226%8Al 249,677
2h+99% +202
- AMEEHIEX4E 44,408
- CHskM 300,000& *13]x30H 9,000
-1SEHA 442 600& *43| x20H 35,408
A BAHZ 1,844,990 & x20%*99H 36,531
- 2| M H| 100,000 x99 x12& 118,800
- CHOI =S AHHI 50,0003 99X x12& 59,400
A2 2AXE 3,000,000& 3,000
SEHZR S 3,000,000& 3,000
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AN A=
B AR (NASE D)
& o 2d|
= _ — d =
SA - BB B () - MM - BES Ol &t o e
o=l 27,324
-ag=E 50,000& »99H 4,950
2ers 60,000 x99H 5,940
-9 55,000& »99H 5,445
-2 40,000 x99H 3,960
- &Y 20,000 »99H 1,980
- OFZ D) 33,000& 99X 3,267
-3 5003 *999 363 1,782
=l 20,208 20,208
JlE2ztl 20,208 20,208
201 2et24d] 16,008 16,008
01 At 22l 16,008 16,008
ORNME2E=EHl 8,280,000& 8,280
OJlege=d Sl 7,728,000 7,728
203 Y2 E X Y| 4,200 4,200
04 NI FZ=AH 4,200 4,200
ORAN2EYE=AHI 4,200,000 4,200
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